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1. The graph of p(x) is shown. What is the remainder when p(x)
is divided by x + 47— Facron
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2. Write Vx * VX asa single term with a rational exponent.
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3. Ifsin?(32) + cos?(x) = 1, then what does x equal?
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4. Over the set of integers, factor 4x® — x? + 16x — 4 completely.
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5. Simplify xi(x — 5i)?, wher@s the imaginary unit.
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6. Use an appropriate procedure to show that x — 4 is a factor of f(x) = 2x3 — 5x% — 11x — 4.
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7. Write (4 + 3yi)(2 — 5i) — (4 — 3yi)(2 — 5i) ina + bi form, where y is a real number.
( -2) (8 -10:’=6yc'+ls'yiz)

(8 - 2ol + byi +lSy) - (8 -200 -6y ~(Sy)
-2 2 ké:-!/{; i.‘-;‘,‘_';.}' -f+200 f—@yi +f;y

(%)

12y +30Y
2oy + f2yL
8. Which is a binomial factor of x* — 4x% — 4x + 8?
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9. Express (3b)z in radical form.
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10. Given: f(x) = 2x? +x —3 and g(x) = x — 1. Express f(x) - g(x) — [f(x) + g(x)]asa

polynomial in standard form. ,——L ﬁ
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11. Which function, f(x) or g(x), has a greater average rate of change on the
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12. Factor 2d* + 6d*® — 18d? — 54d completely.
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13. The equation 4x* — 24x + 4y? 4+ 72y = 76 is equivalent to
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14. When g(x) is divided by x + 3, the remainder is 0. What can you state about g(—3)?
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15. Which binon{ial is NOT a factor of x3 — 11x? + 16x + 84?
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16. Simplify (—8)3. Explain your steps.

{(__3] Fiegr [ RE-IRoTE A5 A CABE RooT iiTh 4 [FouriH
(2)4 Powee. Thenv T  EpqLuatep THE cuBE RovT To (GET
6 ~2. LastLy, T EvaLuaTED THE FoueTh ExPonent.
4x3+5x+10 5 2 A
implify ———— = 2X —3X 47 -
17. Simplify g 2x+2,

________._-zx’-;x +7
2%+% ) P ¢ ox® + S +10
- (4x* #6x)
—¥*y T
— (—6x* - 9x)

———

+iHy+ o
—(+l4yx+21)
kel il
-
18. Factor m® + m?® — 6m completely.
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19. Which expression has been rewritten correctly to form a true statement? g o= ValLwES
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20. When is the function f(x) = xzin_B undefined? UNDEE/NED WwHEN
g - _
X428 -F=o =l e &R

(x+4)x-2)=0o
X+ Y= 6 oe v-2=- o
X :"Lf ol Xz

x342x2%+4+x+6

. . = 2 o
21. Divide . =X +oy %ff%{:i
-2 2 @ o
@ -2 o -2,
| o I Y
- S it _3x2_5x+2 o ,‘.“‘- - =, ;1.7----.’3;%* 2 .»,. (X =
. Simplify —=—" ‘. , \ ks
’f(le-f-s')i "2’) -7/;" YiZ V(2 v —1)
& — A=) 3x-/
X(X+2) X* (52 e T
oR -1(3x-t)_ =,
— =
X K

23. What is the quotient when 10x° — 3x? — 7x + 3 is divided by 2x - 1?
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